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No. of Questions : 180
el # W& : 180

Time : 2 Hours ] I Full Marks : 450
WY 2 §E ) [ qerfg: 450
Instruction ;

fordr -

This paper consists of Objective Type Questions and is divided into
Two Sections (1 & II) as under.
T U¥H-93 qEfadedg weAl ¥ s 2 aen S wuel (I wd 1D F favaw # SR
fr 2 aftre 2 -
(a) Section - I consists of 120 Objective Type Questiens on General
- Awareness, Mental Ability, Comprehension and Subject Awareness in
some major subjects.

(@) WS -1+ 120 sglReain v am 9F, F=NaE drad), SYErgd 9y 50
7= feal & 59 ox e €

(b) Section - Il consists of 30 Objective Type Questions on (I} English
Language and {II) Hindi Language.

(@ wve - I1 ¥ 30 sxfiwaia wyd (D a6l wmr ek (1D 2= vy 8 s W
st & |

A candidate is required lo aliempt as many questions as he/she can of Section-I,

and Questions on ANY ONE of the TWO Language papers (I} English OR (II)

Hindi in Section - [1.

avrefl & artfdr & 5 wve - 1 awr wve - 11 @ (D) U ar 4D &= o o &

IS Wl DI P |

NotelTiT : (1) Each question carries 3 marks. One mark will be deducted for each
incorrect answer. Zero mark will be awarded for each unattempted
guestion.

mmamm%mﬁﬁmwa%ﬁ'qwmmaﬂ‘m
YlF FAART WY B AISAiE € BF |

(3) P.T.0.
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3.

(2}

3)

'f more than one alternative answers seem to be approximate to the
=~ rect answer, choose the closest one.

it woite Tofers T WE R @ e vy & @ Feca wd
LR T

t.ach question is followed by Four alternative answers (1), (2), (3) and
{4). One of these answers is correct. Select the correct answer and
record it against the relevant question in the ANSWER-SHEET by
darkening the circle with Ball Point Pen as per guidelines.

LA U @ 9R fofone ST @I TH O O (1), (2), 3) T @)
bl ¥ I T # | I Y PAE Q@ IR @ WE | WE 9w g
T S Hehd @ FTI-UF 4 dogeEl o @ wma Adaar sie
=< (TeTR) @1 9T Wigve 89 gR &/l &va qutgd |

SECTION i
qUg ~ ¢

‘Clean India Campaign' was launched on:

(1} November 14 (2} January 30 (3) October2 (4) August 15

= HId

LHTE B EETE F S

(1) 7977 4@ (2) 9999 30F  (3) A 2: (4) IRT 15 T

‘Decibei’ is 'sed to measure .

(1) Alkalinity of soil (2} Intensity of sound

(3) Air pollution (4) Radioachve radiations
2R’ F1 WA 7 _

(1) & @ & e mo 3§ (2) &= 9 Fraar e
(3) =g sg oA A (4) Ot AR A

Wildlife ins'itute of India 18 located at :

(1) Bhopal

(2) Lucknow (3) Dehradun (4) Nagpur

IRd @7 a-gohy axeM Rea # -
(1) Wnais 4§ (2) TETEH ¥ (3) =g H (4) AR #

(4)
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The headquarters of ‘United Nations Environment Programme’ is located at :

(1) Paris (2) Nairobi (3) New York {4) Washingion
TYET W gt FRFA & fes Raw 7
(1) oR¥& # (2) R0 H (3) —gar= A (4) af¥rTeR #
The number of agro-climatic regions of India are
(1) 15 ) 18 (3) 2 (4) 12
WA W PiE-SrerEry wee o wem §
(1) 15 (2) 18 (3) 21 (4) 12
. - Which one of the following industries uses bauxite as a raw material ?
(1) Aluminium (2) Iron and Steel (3) Cement {4) Fertilizer
freafefag 4 4 @19 gan digaee o1 Sw @ Ao & Y R wear & 7
(1) vt (2) oF W@ gww  (3) e (4) SR
The largest biosphere reserve (in terms af arca) of India is :
{1) Sundarban {2) Nanda Devi (3) Nilgiri (¢) Gulf of Mannar
IR BT FEH F81 @AEF @ gfte W) Aevse AR ([@rdifieay Rad) &
(1) T=vad (2) =57 &4 (3) AR (4) F=IR A G
Which cne of the following pairs is related with equatorial forest ?
(1) Pine and Spruce (2) Olive and Cork Oak
(3) Mahogany and Rosewaood (4) Teak and Sal
frafeRea 9 4 @ o Rges wiv =@ 4 g=fva & 2
(1) drg ge B (2} A T BB AE
(3) WErTH Tl Jeigs (4} HEIE T 9
Madhya Pradesh does not have common border with :
(1) Maharashtra (2) Gujarat
(3) Andhra Pradesh {(4) Rajasthan

(5) P.T.0.
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10.

1.

12I

13.

T wew B O gvate JE §
{1) TERTE & A (2) TR & W
(3) o WY H WY (4) TR B

Which one of the following pairs is net correctly matched ?

(1} Iron ore - Bailadila (2) Copper - Zawar
(3} Bauxite - Koraput (4) Mica — Neliore
Frefafta § @te-a1 16 gm w8 gafera 78T 2 ?

(1) @ swe — s (2) ofer — SR
(3) dfFaREe — BRYS (4) awE — R

Which one of the following is called the "sugar bowl' of the world ?

(1) Hawailslands (2} Mauritius (3) Java (4) Cuba
Freafofae # & B Rvg o1 9 @1 err ser e £ 7

(1) &g g w5 (2) Aderw (3) v (4) aga
Highest productivity (per hectare} of groundnut is found in the state of :
(1) Guijarat | {2) Andhra Pradesh

(3) Tami! Nadu (4} Karnataka

Teel & v A3fie Soee @i g e |

(1) o & (2} &y waw #

(3) Thamrg W ' (4) wHieE 3§

Which one of the following pairs is not correctly matched ?

(1) Green Reyolution — Food grains (2) Blue Revolutien — Fish

(3) White Revolution - Milk (4) Yellow Revolution - Floriculture
fafafaa % & o9 gm v gfen 728 & °? ,

(1) sRa mifsr — @EmT= (2) el wfa - ==

(3) wa wifg — ga (4) e wif¥ — geirreA

(6)
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The correct sequence of the following states (in terms of population) in
descending order is :

(1) Uttar Pradesh, Maharashtra, West Bengal, Bihar

(2) Uttar Pradesh, Bihar, Maharashtra, West Bengal

(3) Uttar Pradesh, Maharashtra, Bihar, West Bengal

(4) Utrar Pradesh, Bihar, West Bengal, Maharashtra

Frerfarfeae et (Gevrenr @1 gfe @) aﬁrﬁ#fm‘é’rm%

(1) STR 92¥, AENTe, uf¥aq §e, fIgn

(2) SR wav, fRER, Aenng, gfewy dnre

(3) STk WYL HEN, fAEw, 9f¥Ew dae,

(4) SR yow, fogr 9f¥ew sme, 9ERTE

The iargest reserve of Iron ore is found in the state of :

(1) Odisha (2) Karnataka (3) Jharkhand (4) Chhattisgarh
AlE 3w & Hafew Oitd SR IR o #

(1) anfeer (2) wATeE. | (3) FIRTs A (4) welrwig 4

Deltaic plain in India is an extension of :

(1) Khadar plain (2) Bhangar plain
{3) Tarai plain (4) Bhabar plain
WIRT ® $2T HEIT 437 &1 91T €

(1) @rex derH = C(2) WTTE BT 9
(3) g ¥R & (4) WA #EE @
The largest river basin of Peninsular India is :

(1) Godavari basin {2) Mahanadi basin
(3} Krishna basin (4) Cauvery basin
JRIEISE 9T @ 959 981 7e8 9fe 2

(1) el afda (2) HETEEr 2R
(3) o R (4) T e

(7} | P.T.O.
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18.

18.

21,

22,

23

India’s longest border is with : .

(1) China (2) Bangladesh

(3) Pakistan (4) Nepal

YRY H FEH A T2

(1) ¥ & & (2) ghERT B W

(3) orferT & Ty (4) AT & |

Along the west coast of India which state is most vulnerable to cyclonic storm ?
(1) Kerala (2) Karnataka (3) Maharashira (4} Gujarat

W & IR o § WeR @19-91 RV haKi qBH § Hed A weeaee & 7
(1) #=& (2) wreE (3) AEWTE (4) o
Period of retreating monsoon in India is:

(1) Mid December to mid-March {2) October to mid December

(3) June to September (4) Mid March to May

e W = A @ v # :

(1) wor R F 7eg w7 (2) AR ¥ W R

(3) 93 J Ryrme (4). wea el A wE

We can know about early Vedic period from :

(1) Jatak Katha {2) Yajur Veda (3) RigVeda (4) Rajtarangini
RS ifeE Fa & IR ¥ 7 e weer fRad & 7

(1) = e (2) TR (3) =g (4) TromeRfirh
The first capital of Magadha was:

(1) Rajgir (2) Pataliputra (3) Gaya {4) Kumrahar
W B TEE IS wEl ot 7 |

(1) oo (2) wrefergs (3) (4) BRWR

The important port of Indus Valley Civilization was :

(1) Alam Girpur (2) Lothal (3) Banawali (4} Mohenjodaro
femy =Y wvaren &1 Wl RO WY a7 ?

(1) IFTIRE (2) @ (3) s (4} HrEToES

(8)
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The first Gupta ruler who took the title of Maharajadhiraja was :

{1) Samudra Gupta (2) Kumara Gupta
(3) Chandra Gupta (4} Skanda Gupta

R T 9 @ ¥l e MERTRRIGT 6 9gd 7 fRem oy
(1) FgETa | (2) A=

(3) T ) (4) T

The rules made for the Buddhist Sangha were written down in a book which
was called as :

(1) Vinaya Pitaka (2) Sangha Pitaka

(3} Sutta Pitaka {4) Niyama Pitaka

&g |9 & ov o From o T o 9 qeaw @) Fn wE wiar & 7
(1) fa=a fow (2) 99 fam

3) 5a fas (4) Frm s

Rajaraja [ belonged to which Dynasty ?

(1) Pallava Dynasty (2} Chola Dynasty

(3) Chalukya Dynasty (4) Rashtrakuta Dynasty
R W e v | wwe A 7

(1) go= av (2) drer der

(3) vrgEE 99 (4) WEHe du

The famous traveller Ibn Battuta who visited India during Muhammad bin
Tughlaqg's rule was from:

(1} Afghanistan (2) Iran (3) Morocco (4) Abyssinia
g A=t 3o wqar R JERTe gUed @ TEd @ A 9IRG @ ara B &8l @
frarit o1 ? _

(1) s (2) =W (3) AN (4) s
Where is Humayun's tomb located ?

(1) Delhi . (2) Agra (3) Sasaram (4) Lahore
AT &1 Hhaw Faf e & 7

(1) feeet (2) PRI (3) WHRH (4) wER

(9) P.T.Q.
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29. Whatis Dargah ?

1) Rest house of Sufi Saint (2) Tomb-of Sufi Saint
(3) Education centre (4} Praver Place
SIS a7 § 7 :
(1) B v & s wra (2) g 9 F AHE
(3) dafore o= (4) WA wIF
30. Hyder Ali was the ruler af which state ?
(1} Cochin (2) Karnataka (3) Hyderabad (4) Mysore
£aY et fae ¥og & TS o1 ¢
(1) @b (2) Fem (3) BEvEg (4) gy
31. Who was the first Governor-General of Colonial India ?
(1) Robert Clive {2) Lord Cornwallis
(3) Warren Hastings : {4) John Shore
Aafrafe WRE B Rum TEER SRS # o7 7
(1) Ta FAT (2) &e wrmfeE
(3) anw 2™ (4) WF IR
32. The palicy of Docirine of Lapse was introduced by :
{1) Lord Canning (2) Lord Dalhousie
(3) Lord Wellesley _ (4) Lord Curzon
Tiferet Rem ot fe S sy T ?
(1) = sf¥m (2} &S SAB
(3) ENE dereen (4) &€ T
33. Where was the permanent settlement introduced ?
(1} Bengal, Bihar and Jharkhand (2) Bengal, Bihar and Awadh
(3) Bengal, Bihar and Orissa (4) Bengal, Binar and Central Province
) TR wet an far mr e ?
(1) sTE, ¥R &N svave (2) = fRER alw sy
(3) ¥, faER o S (4) ¥, fRER sk wea wi

(10)
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In which year Delhi became the capital of India ?

&y g Reoell wRE &Y wroarh &= 2
(1) 1809 (Z) 1910 (3) 1912 (4 1911

Which of the following Acts provided for Provincial Autonomy ?

(1) Indian Council Act, 1909 (2) Government of India Act, 1919

(3) Government of India Act, 1935 (4) Indian Independence Act, 1_947
Frefefm. & 9 b Yo & g1 Wiy s @1 gree s w2

(1) Wi ofitvg Tae, 1909 (2) We xR sfafiaw, 1919

(3} WRE W@ UFe, 1935 (4) WRe oA R, 1947

A 4B0 meter ldng train crosses a platform in 240 seconds. What is the speed of
the train ?

(1) 4m/s (2) 2m/s

(3) 3m/s {4) Cannot be determined

TP e frad TwE 480 HeR 2 s wiewm BT 240 9Fe ¥ UN me B
SoS o nfy wmr g v

(1) 4 Fex /b3 (2) 2 #er/dd-e
(3) 3 AeR/wEE (4) Pfa T# @ o7 Tl

Find the next term in the series:
o &t ® 3pmar 9= @ e
BAC, DBF, FCL, HDL, JEQ, ?
(1) FLR (2) LFR (3) LFT (4) FTL

The average age of the boys in a class is 16 and that of the girls is 15 years. The
average age of the whole class is :

(1) 15 years (2) 15.5 years

(3) 16 years (4) Cannot be determined

(11) P.T.O.
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39.

40.

41.

42.

43,

T T A Fedl @1 offwa IW 16 T qun wefeAi B 15 T ¥) W wer B

aea 97 2rf _
(1) 1579 (2) 155 @
(3) 16 =% (4) Freffa =8 & o7 aadl

A man travelled from the village to the post-office at the rate of 25 km/h and
walked back at the rate of 4 km/h, If the whele journey took 5 hrs 48 minutes,
find the distance of the post office from the village :

(1) 10km (2) 15km (3 20km (4) 25km

TH Afea s e ¥ i Jfhw & diw 25 et /der & e R awr amra
4 Tl /oer & == ¥ I o 2| ofy Fe e 4 SR 5 bey 48 fe @ @ @
T | 9e Hiftrw 1 g8 &nft

(1) 10 = (2) 15 fpeh (3) 20 ft (4) 25 farst
What is the missing number in the following series 7
frrferfas st ¥ o w71 8 7
3,10, 17, 31,45, 66 ...7....
(1) 94 (2) 85 (3) 87 (4) 92
[f2A=3B=4C, then A:B:Cis:
¥ 2A=3B=4C% & A:B:C8rm:
(1) 2:3:4 2y 4:3:2 3) 6:4:3 (4) 3:4:3

If the radius of a circle is increased by 25%, then area of the circle will increase
by :

ufa e gq #1 P B 25% Ta1 Ry WA, |1 Swa S5%e 9T S
(1) 25% (2) 37.5% (3) 50% (4) 56.25%
Which of the following fractions are arranged in ascending order ?

= 4 & - = R wa 3 eeiug § 7
(1)

1

en | e
-1 |
w| oo
—
%)
"4

848 . B
{3) P (4) 5

-1

i
5
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A two digit number is such that the product of its digits is 12. When 36 is added
to it, the digits interchange their places. Unit digit of this number is :

(1) 2 2) 3 ' (3) 5 (4) None of these

g1 FP B (B G 39 R B ¢ e9e o@f o1 quema 12 ® | 39 W ¥
36 TS § Ul B B B W UTER 95 Gild 2 | 96T B 3P AE §

(1) 2 (2} 3 (3) 5 (4) g0 & &% TqE

In an examination, the ratio of passes to failures was 4 : 1. If 30 students less
had appeared and 20 less passed, the ratio of passes to failures would have
been 5 : 1. How many students appeared for the examination ?

(1) 150 (2) 120 (3} 100 (4) None of these
frel wfam A weiel ol aredol wTR @ aFue 4 ;1 #) af ww ofEn ¥ 30 @
wE afafad g2 81 T 20 o9 v wdel g2 B, o wxiid G it wst @
AT 5:1 8 Tar| 99 Wen ¥ 5o e om wttée ga ?

(1) 150 (2) 120 (3) 100 (4) 394 | PIE T

The numbers in the series change in specific crder. Suggest the next number to
continue the series :

i ¥ Wl v B w9 7 81 v #0911 w0 @ A aTelt |@wm @

qAE
36,28,24,22,7

(1) 20 (2) 22 (3) 21 {4) 23

The number of Indian States after the formation of Telangana is :

AHEMAT T 99 AF P 917 NG T UG D HEOT H TS B
(1) 27 (2) 28 (3) 29 (4) 30

As long as substitution effect dominates the income effect, the labour supply
curve is:

(1) positively sloped (2) negatively sloped

(3) backward bending (4) shift towards right

T 7 NIRRT ¥H ATy $NTg TR BT e £ 4 &1 gt g g
(1) FFRTeTE ® | Tod (2) TPRIAE ¥4 ¥ cdl

(3) drer @Y o HaT gan (4) wIfEt ol Rawes @ 2

(13) PT.O.
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49,

50.

51.

52.

Which of the following is not 2 determinant of Human Developmeﬁt Index
(HDI)?

(1) Longevity (2) Infant Mortality

(3) Decent Standard of living (4} Educati-ana] attainment
frer % @ v ard faora gEeiE ((FoSlodso) & WUTH T8 8 °
(1) iy @ frg g

(3) BT WS 'X (4) e suwfer

Which of the following is tantamount to absence of taxation ?

(1) Taxevasion {2) Tax transformation

(3) Tax capitalisation (4) Shifting of tax

o ot ¥ @Y-ar o arufafa & g 2 7

(1) @Y HIGU (2) & wUFAR

{3) T Tole (4) &R & QwerT

For substitutes, cross elasticity of demand is:

(1) Positive (2) Negative

(3) Zero {4) Always less than one
wrEEl @ ford ST @ A F A §

(1) EFTTE | (2) oS

(3) T (4) ¥aT U@ H FH

Which of the following head is #ot included in non-plan revenue expenditure
of Government of India 7

(1) Interest payments (2) Subsidies

(3) Grants-in-aid (4) Loans o public enterprises

e % @ - v OWRE WRER B RO ToE oy ¥ gifam a8 far
AT ?

(1) = Y= (2) Sug=

(3) HETHAT HYRTH (4} s T ®Y o
(14) '
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The number of countries which are members of World Trade Organisation
(WTO) at present, is :

g ¥ fdvg =R e (WTO) & dows Sef & o & -

(1) 160 (2) 159 | (3) 150 (4) 140
The ministerial conference of W.T.0. in 2013 was held in the city of :

(1) Seattle (2) Bali (3) Singapore (4) Cancun
a9 2013 & seo Fo 3o FT FN WA e wex F gor ar ?

(1) fadea (2} arefl (3) fmgR (4) P
The law of demand relates to :

(1) Price - income relationship (2) Price - cost relationship
(3) Price - demand relationship (4) Price - supply relationship

1) TR 9 _ (2) FeE-aTa w9
(3) HE-ET WEE A (4) Teo-yit @ &

For perfect substitutes, the value of cross elasticity of demand is :

(1} Zero (2) Negative (3} Positve (4) Infinite
T T ARl AT @Y T @Y @ A B

(1) I (2) FUTEH (3) Y (4) 3~

When the indifference curve is 'L' shaped, the two commodities are :

(1) Perfect complements (2) Perfect substitutes
(3) Imperfect complements L (4) Imperfect substitutes
WE ST 956 L' S BT 8l aY & gy BN E

(1) yolaar e - (2) yotaEm ey

(3) gt 7 () srpfea wiwere

(15) P.T.0.
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58. A market in which several firms sell differentiated produced is termed as :

56.

80.

81,

62.

(1) Discriminating monopoly (2) Monopolistic competition

(3) Imperfect competition - (4) Qligopoly

% AT R se wi RRe avgd dud & ww we &

(1) R wfeR (2) voReRe i

(3) el wfeFran (4) e

-If marginal cast is above the average cost it implies that ;.

(13 Average total cost is rising (2) Average total cost is falling
(3) Average variable cost is rising (4) AVEI;'igE variable cost is falling
afy T A SEE @ | SR A, @ gHe aed ?

(1) F[= 3o e 99 o B (2) & ArFT @rE T Wl @

(3) sra aREiaee dre e o @ (4y oo ofited=eie o e o @
If V denotes value of money and P denotes price level, then value of money will
be equal to

ﬂﬁVWﬁWﬂﬁﬁaﬂPﬂﬁﬂﬁﬁ?ﬁﬁﬁﬁmﬂﬂjﬂﬁﬁww
AR BN 7 |

(1) 1/P (2) P/V " 13) I/V @) P=V
Which of the foliowing is not an.abjecti'.re of monetary policy 7

(1) Exchange rate stability (2) Price stability

(3) Resource mobilisation (4) Economic growth

fret & & o Mye Ny o= stww @R 2

(1) fafrme ox feewar 2y wr Rera

(3) A ger (4) anfdfes wgfy

A group consists of 8 students. How many teams of 3 students can be formed ?

UE WE ¥ Bwrd &) 3 vl Y el O aw wodt # 7
(1) 30 (2) 40 (3) 56 (4) 60

{18)
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63. Which variable is manipulated or varied in strength by the experimenter

65.

during a psychological experiment ?

{i} Dependent variable (2) Extraneous variable

{3} Independent variable (4) Controlled variable

f5dl wenfe v # wEreal W R W w1 weEEs a1 Iwe dwar |
aftad= fmar smar & 7

(1) anf3@ = o (2) IETH W

(3) o W @) Frifya =

In which type of observation, 'the observer becomes a part of the group being
observed' ?

(1) Naturalistic observation (2) Participant observation

(3) Controlled observation (4) Non-participant observation

fr woR & Yeor W Werrendl SW WHE @ o &9 wrar ® fowren deor fae
T YET B 7

(1) wrfos = (2) TETT &

(3) fifde wepor (4) TETHTY HEToT

What is the age span of Piaget's preoperational stage by which 'object
permanence’ gets established ?

(1} 0-2 years | (2) 11-15 years

{3} 7-11 years (4) 2-7 years

ot & 78 ydafFuers sawr o9 7w g wflerer wifta & o @
YS! ATY-HTe M 7

(1} 0-2 ¢ _ _ (2) 11-15 o

@) 7-11 7§ @ 2-7w

The duration of which type of memory is less than one second ?
(1) Episodic memory (2) Short-term memary
(3)  Sensory memory (4) Implicit memory
fFd UPR 3 T T I P GPe § HF g ¢ 7

(1) Te=m W ' (2) FgFIerT T

(3) wada e (6) swE

(17) P.T.0.
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67.

68B.

If a person has to choose between either 'going out o enjoy a picnic with one
group of friends' or 'going out to enjoy a movie with another group of friends’
then what would he/she be experiencing ?

(1) Approach-avoidance conflict (2) Appmach-appmachmnﬂict

(3) Lack of presence of conflict - (4) Avoidance-aveidance conflict

oy % afdm @1 “WF & e aE B w1 et a1 arg Sem e e

a%w@%wzﬁﬂrdfﬁaa“‘wﬁﬁrwm ﬁﬁagﬂraﬂmma‘raﬁ
T T B & BT ? -

(1) sToeuoReR & (2} smavTiTEAT g
(3) g5 @ auRefy &1 apg (4) wRER-URER Z7

‘Attributing one's own traits or .characteristics to another person’, refers to
which defence mechanism ?

(1) Reaction formation _ (2) Raﬁnnalizal'ion

(3) Projection (4) Denial

O o R wew w1 ogEd W it @A, fu e gfm @ gfim
HIA B P

(1} sfafrar fRmfor (2) aFETAE

(3) weyer (4) FH=ET

The term ‘Eustress’ refers to the stress which :
(1} disturbs the equilibrium of an individual
(2} remains under control of the individual
(3} emerges from imaginary sources

(4) is required for reaching peak performance
"TEE S &I Fed 99 a9 ¥ & W

(1) fret afd & wgam o fafag =

(2) = & o B 3 |

(3) FEH® W ¥ IGH €

(4) TegoH & Hued WY F fau amavas 81

- (18)



70,

71,

?2!

73.

74.

15U/104/4(Set-1)

What does the individual's ‘underlying potential for acquiring skill' refer to ?

(1) Aptitude (2) Attitude (3} Intelligence (4) Ability
ofd & “FEd FWT F ATHRT gFar B T o g ?
(1) sz (2) sfaghy (3) g& 4 Frgemm

According to DSM-IV system of classification of mental disorders, the patient is
evaluated on how many axes ?

AT ReR 3 SoTHoTHe-IV TIaRY B S ER O B amee fhed sE W
oo sram & 7

(1) 3 (2) 5 Q) 4 (4) 6

What is the formula for Intelligence Quotient (IQ) in terms of Mental Age (MA)
and Chronological Age (CA) ?

(1) CA/MA . (2) (CA/MA) = 100

(3) MA/CA (4) (MASCA) x 100

R 3 (Ao 3fTe) Tl HIogmivd 3 (maaﬂo)?ﬁqﬁﬁﬁﬂf&:gvﬁmm
A e 7 '

{1) Wl 3Ho/Ho o (2) {(@e sro/HIe 3ie) x 100

{3) Wlo aMo/@e o (4) (Hlo aMo/FHo ae) x 100

What does the term 'delusion’ refer to ?

{1} False perception (2) False belief

(3) False memory ' (4) False sensation
“wfe” ug @ e aed 2 ?

(1) foear ermor (2) firezr wemdrae
(3) fire wfer (4) frzm waeT

Which psychotherapy is based on the laws of classical and operant
conditioning ? .

(1) Psychodynamic therapy (2) Behaviour therapy

(3) Cognitive therapy (4) Existential therapy

{19) ' P.T.O.
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75.

76,

78.

Fr- wefdafica Feied vd g sqeeT @ e w annRa ¥ 7
(1) TAreres frfewn (2) =eENad fafdoar
(3) WSS e (1) sfraegrd Rfda

As factars influencing attitude change, 'Credibility’ and 'Attractiveness’ are the
characteristic of which of the following ?

(1) Source (2} Message

(3) Target : (4) Existing attitude

sfgRt wRads @1 a7 @9 ¥RE! & w9 6 CfwEager U9 ameser
frafaftas 7 & et Ridmeas € 7

(1) &a . (2) wew

(3) =g (4) Tear sfhaly

What is "Attributing own success to 'internal but that of others to external
factors" known as 7

(1) Actor-abserver effect {2) Attribution error

(3) Impression formation {4) Equitable attribution

U HBET W S WARS qF qHA A AHAdel & 40 GEaeEd W O3,
fa =9 @ <=1 W 2 ?

(1) wfFr-deorsat wma (2) HRERGT Ffe

(3) umrvT fwor _ (4) Trms IR

"Reduction in one's own individual effort when working on a collective tasks”,
is indicative of which of the following ?

{1) Social cohesiveness - (2) Social facilitation
{3) Social cognilion (4} Social loafing

"R EHREE Y B wxd 99 e AfERT waer B u9fEe @ @A eeET
freafofes i Q feamqEe 2 7

(1) amfs qufd (2) QrTfSTe gL

(3) |TEIfIE WS (4) SmITSE sgRafa

Who among the following wrote ‘Anand Math' ?

(1) Bankim Chandra Chatterjee (2) Ishwarchandia Vidyasagar
(3) Subhash Chandra Bose . (4) Ras Bihari Bose

(20)



78.

a1|

82.

Ba.

15U/104/4(Set-))

Fr=ifera 4 9 fFas s W o £ 2
(1) afrma=s wesii | (2) IR e HevrR
(3) gIIY === 99 (4) g faed o

Who among the following Indians attended the parliament on World Religion
in Chicago in 1893 ? -

(1) Rabindra Nath Tagore (2) Vivekanand

(3) Mahatma Gandhi ' (4) Gopal Krishna Gokhale
faeifi % & frw Wit 3 Rremn # 1893  «mr famy ?

(1) W@ 1 2R (2) g

(3) weTeR MEf (4) TrOTE T e

The untouchability (offence} Act was passed in the year :
FegeaeT (e afefos form af ofta gar @ @
(1) 1860 (2) 1855 (3) 1950 (4) 1955

In which year the Hindu Marriage Act was passed ?

fra ad g Rrare afdfm i gan »

(1) 1950 (2) 1955 (3) 1961 (4) 1980
The Dowry Prevention Act was passed in the year :

T e arfefras frmy o oo gamag &
(1) 1950 (2) 1960 {3) 1951 (4) 1970

Who among the following was proponent of the total revolution ?

(1) Mahatma Gandhi ' (2) Jawaharlal Nehru

{3) Jay Prakash Narayan (4) Subhash Chandra Bose
fr=iferr % | FF wwomia & JoT 3@ 7

(1) HETH i (2) SIETER @ e

(3) wI¥ wETE ARTgY (4) AN O= &4

(21) : P.T.O.
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84.

Who among the following was the First Indian crowned as Governcr General

of India ? #
(1) Chitranjan Das
(3) C. Rajgopalachari

(2) Mahatma Gandhi
(4) Purushettam Das Tandon

fifeg § @ vuw ARdD w R e ove e gftear 3 Ok w i

famr Ty 7
(1) TR T8
(3) S0 TEITETET

Social Sciences are based on :
(1) Observed consequences
(3) Personal consequences

wfre e smfe 2
(1) arEenfeha ufoml
(3)%‘4ﬁﬁ$wﬁﬂnﬂ?q€|

(2) BT TR
(4) JOURTE I TEA

(2) Speculated consequences
(4) Imaginary consequences

(2) g oo o
(4) FrAMAT FROAT =

The Widow remarriage Act was passed in the year :

feran qAfdare fore. o o gan 9w #
(1) 1850 {2) 1855

(3} 1856 (4) 1857

Who was the first Indian Lady Astronaut of NASA (U. 5. A)?

(1) Sunita Williams
(3} Kamla Devi

(2) Kalpana Chawla
(4) Shivani

o THo Yo H AT F I P AUA ARG FEET e dunihe 8 7

(1) g fafem=a
(3) AT 24

Where is Diamond Harbour situated ?
{1) Chennai

(3) Kuolkata

SITE ENER HET Rad 2 ?

(1) =%

(3) PP

(22)

(2) HeAT AEAT

(4) P

(2) Thiruvanantpuram
(4} Mumbai

(2) foregTageH

(4) 7rd
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The 'Panchsheel' was projected by Jawaharlal Nehru to promote alliance
between which of the following countries ?

{1) India - Pakistan {2) India - China
(3) India-1. 5. A. (4) India~-U. K.

gy Ty ?

(1} 9RT ~ gqifeaTs (2) WRa -~ 99

(3) YTRA — Hqaa =g amRar (4) T — gAEEE fhTey
Panchayati Raj system was first initiated in which state ?

(1) Bengal (2) Rajasthan _

(3) Andhra Pradesh {(4) Uttar Pradesh

fre Troy 3 Wy T v aEven @ g ?

(1) s (2) NTor=

(3) 2T Gew (4) SR w2

Which one in the following is net among the 'Four Purusharthas' ?

(1) Dharma (2) Artha (3) Kama (4) Niyoga
i % % o we ww gowdt § g8 @

(1) o4 (2) @ (3) ®F (4) T
The concept of 'Satyagraha’ was coined by :

(1) Balgangadhar Tilak (2) Gopal Krishna Gokhale

{3) Mahatma Gandhi (4) Ram Manohar Lohia
FATTE & HGHNTT PTG (o -

(1) 9r& TR e F (2) TS g TR X

(3) weTew Rl & (4) = "ET wfkar A

The muscies found in the front of our thighs are :
{1) Quadriceps (2) Biceps (3} Gastromemius (4) Triceps
FAR WG & o W H o S Al /e §
(1) FeTs (2) argHe (3) T (4) T
(23) . P.T.Q
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84.

7.

What substance are nails made of ?

(1) Collagens (2) Keratins {3) Cellulose (4) Myosin
e e warl & a9 8 8 ?

(1) @I (2) ffes (3) e (4) Wi
Which system contains both bone marrow and the thymus ?

(1) Endocrine (2) Immune {3) Nervous (4) Circulatory
frg o= ¥ SR gun oigay I aafde g E 7

(1} TEmE () &=L (3) 7w (4) Wl
Pace maker in the human heart is located in :

(1) Rightatrium (2) Left atrium

(3) Pulmonary aorta (4) Systemic aorta

Ag §ed # I Ao wenfag e 2

(1) = e | (2) wT¥ anferg #

(3) BUEH HERMWAI W : (4) Rrefie s 3§

The colored part of the human eye that controls how much light passes through
the pupil is called the :

(1) Retna (2) Cornea {3) Iris (4) Pigment ceils

AT WF @ g8 wiE A o 5 ue Pefw s g 5 goet @ Reoem g
TR, 7% #

(1) ¥femm (2) it (3) smsRa (4) =i PP
The blood cell type responsible for oxygen transport is :

(1) Lymphocytes (2) Erythrocytes

(3) Platelets | (4) Monocytes

e HIYHT T PI-H FHR S €589 & forg saardy 8 7

(1) fermmrarsem (2) TS

(3) wEdcH (4) AT

(24)
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The vitamin that contains a metal jon is : .
(1) Vitamin A (2) Vitamin B>

(3) VitaminBs {4) Riboflavin

faefE R oo urg smmw B aafie e 2

{1) faerfm v (2) frerfi d,

(3) fef= §. | (4) vEeIwERE

Which is the first illness that was attributed to an animal carrier ?

(1) Rabies (2} Smallpox (3) HIV (4) Malaria
B e A T aed @ T & 7

(1) ¥ (2) witeratery {3) ThHe Ao dlo  (4) weRar

Which disease is not correctly paired with the nutrient or vitamin that prevents
it?

(1) Niacin - tuberculosis (2) Iodine - goitre

(3) Vitamin C - scurvy (4) Vitamin D - rickels
Eﬁﬁ%ﬁﬁ%wﬁmmﬁwﬁaﬁﬂfﬁmw T E?
(1) Frafr-cgaea=if (2) AT e

(3) R C - =it 4) frafs D - Raew

Which disease has been completely eradicated ?

(1) Smallpox ) {2) - Hepatitis

(3} Heliobacter pylori {4) Leukemia

T W 6% O 3 o w5 A Ieiger gar & 7

(1) At (2) Bversfew

(3) BfemrTes uraed (4) wufsfa

Folie acid, which is found in oranges, prevents which of the foliowing ?
(1} Scurvy (2) Birth defects

(3) High blood pressure (4) Dementia

wifers I W W Akl A ymn W £, 3 9 fRad dmur e § 2
(1) et (2) 9 fewac |

(3) B &% WK (4) feufarn

(25) | P.T.O.
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105.
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What is the process of sterilizing milk called ?

(1) Purification (2) Pasteurization

(3) Clostridization (4) Refrigeration

Frctfaeer g B afa F @ oI #

(1) =ipeper (2) TIEERTEATA

(3) FARLSTERTA : (4) Rfparem

Majar source of lactose is :

(1) Milk (2) Cane-sugarjuice (3) Liver {4) Rice
ST 1 HE W €

(1) g8 (2) T W A (3) TP (4) =i9d

Who of the following acted as the Constitutional Advisor to the Constituent
Asgsembly ?

(1) B.R. Ambedkar ) (2) Dr. Rajendra Prasad

(3) B.N. Rao {4) Dr.Sachchidanand Sinha
it T B GuifTe geeER % v 3 e 7 @ s e fan v
1y #ie R0 sREER (2) =fo TorE gHE

(3) e U0 @ (4) Sho wRmsme 5=

Into how many parts has Indian Constitution been divided ?
el wifdur= & fiem amif # fpnfer R ? |

1y 7 2 1 (3) 21 {4) 22
The States Reorganisation Act, 1956, divided the entire country into :
{1} 22 states and 9 union territories

(2} 14 states and 6 union territories

(3) 17 states and 7 union territories

{4) Four categories of states

(26)
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we et gee, 1956 % wf me o e

(1) 2239 3R 9 g wieg w39 &

(2) 147 iR 6o wite wiyr #
(3} 17 /59 3= 7 By wied 92w &
(4) It & TR FEHT F

The following states were created after 1960, Arrange them in ascending
chronological order of their formation,

(a} Haryana (b} Sikkim “{c) Nagaland (c) Meghalaya
(1) (a). {b), (c), {d) (2) (b}, {c), (d), (a)
(3) (b, (d). (a), () () (), {a), {d), (b)

1960$qmmﬁnﬁfmmmrﬁﬂﬁﬁnﬁehmwﬁaﬁ§qﬁfw
A ¥ TE HEEG BT |

() &R (@) Fafrmw ®) TR (3) dmew
L) &) @ @ E ) @ @), @ @
@) @ @ e @ @@ @@ e

Under which arhicle of the Indian Constitution can the President be
impeached ?

(1) Article 356 (2) Article 75 (3) Article 76 (4) Article 61
R wRE @ R st @ smntT Teufy T R s @ v &

(1) a9 356 {2) ST 75 (3) =S 76 (4) 3T 61

Who among the following are appointed by the President of India ?
(a) Governors of states

(b) Chief Justice and judges of High Court

{c) Chief Justice and judges of the Supreme Court

(d) The Vice-President

Select the correct answer from the codes given below :

(1} (a)and (b) (2) {a), (¢} and (d)

(3) (a), (b) and (d) (4) (a), (b)and (c)

(27) P.T.O.
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112.

113.

114,

WA & Uy @ g Frefefaa ¥ ¥ 318 frge ey on wed €7
(3) T B ACATR '

(@) gea AR v v R @ R

(@) g ~rrnfinfy o wafen =rrer) @ S

(%) ST

fad m fre ®ie ¥ GE TR @ gAE PIA

(1) () = @) @) @), @ IR &@)
(3) (@), @ @ &) 4) @), @ IR (7)

The President can impose his rule in a state on account of failure of
constitutional machinery under :

(1) Article 356 {2) Article 361 (3) Article 371 {4) Article 379

e ape @ o WRUIRS R @ ¢d @1 W @ R Ty e ¥
AT WA AT #R HE B 7

() sEiss  (2) sEWNI6l (3 FIWRITL (4) STHRIN

Who presides aver the joint sessions of Parliament ?
(1) the Vice-President -
(2) the Speaker
(3) the President
{4) the Speaker and Vice-President by rotation
wifiamie o HYET WA o o @ e € 7
(1) Su-Trgfe
{2) ¥
(3) wrgrufer
(4) e R Ju-agafey T -ad |/
Who of the following enjoys the distinction of being the first Muslim President
of India ? :
(1) Maulana Abul Kalam Azad (2) Fakharuddin Ali Ahmad
(3) Zakir Hussain (4) Fazal Ali
‘ {28)
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ARG 1 I qREH IO awa & Ene ey o @ 2

(1) AT G FAW TR (2) TEwEd e sETE

(3) anfde g (4) &R 37

The Comptroller and Auditor General of India does nat audit the accounts of :
(1} State government (2) Government companies

(3) Municipal bodies (4) Union government

ARG & Fnier AR Sy wRe e a1 seTee T8 siffde od § 7

(1) T avaR (2) TRE FRET

(3) R frer @) PR T

Which of the following Lok Sabha was dissolved before the expiry of its normal
term and fresh elections held before the due date ?

(1) third (2) fourth
(3) fifth (4) none of the above

ﬁfﬂﬁﬁﬁ?ﬂ?ﬁﬁﬂﬂﬁﬁﬂﬁﬁﬁmma%mﬁﬁtﬁ%ﬁ
T SR wEE il B @ 98 gewr g Ay

(1) =T (2) =ten
(3) =g (4) SURET wE T

Consider the foliowing statements regarding the governor of a state : -
(a) The governor is the constitutional head of the state.

(b) The governor always acts as an agent of the centre.

(c) The governor is an integral part of the state legislature.

(d) The governor appoints the judges of the High Court.

Of these statements :
(1) (a)and {c) are correct (2) {a), (c) and (d) are correct

(3} (a)and (b) are correct (4) (b}, (c) and {d} are correct

(29) P.T.O.
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T @ T @ wed A P e W R @
(a) TSI X G WIS G d @
(b]wmﬂéﬂa‘a‘azﬁqﬁa$mﬁmrdm?
() T We efweR @ W 30T #
(d)mmmwﬁwﬁsﬁrﬁﬁgﬁm%

g W F
(1) {a) AR (c) FET & @) (@), (MR FE B
(3) (a)3he (o) wET 2 (4) (b), (c) S (d) W& &

118. Who of the following ladies served as Chief Ministers in different states of
India ?

(a) Janaki Ramachandran
(b} Nandini Satpathy

(c) Rajinder Kaur Bhattal
(d) Syeda Anwar Taimur

Select the correct answer using following codes :

(1) (b)and (¢) () (a)arid (¢}

(3) (a)and (d) © (4) (a), (b)and (d)

fre ARl § e ARA & e vl ) qErEd B w9 § o f 7
(@) AFDI TTEEEA

(o) wife wamed

(c) Wfo=T TR ¥z

(d) WERT AR TR

e o ¥ A w8 9 g0 :

(1) B3R (o) (2) (a)¥R ()

(3} (a) 3R (d) (4) (a), (b) 3R (d)
{30)
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The vacancy in the office of the Vice-President :
(1) has to be filled within three months

(2} has to be filled within six months

{3) has to be filled within a year

(4) has to be filted within reasonable time, as there is no time limit prescribed
in the Constitution

TIUETA B S F @reh @ B e i
(1) &7 77 @ Wa=
(2) & 78 % How
) % % P AR
(4) Eﬁﬁwwwmmﬁqw%ﬁﬁmﬁmﬂmﬁm-mﬁtﬁﬁﬁﬁﬁé

Which one of the following rights is available only to the citizens within the
terntnry of Indija 7

{a) freedom of speech

(b) right to form associations or unions

(c) equality before law

(d) freedom to assemble peacefully without arms

Select the correct answer using the code given below :

(1) {(a), (b) and (d) - (2) (a), (byand (c)
(3} (b), (c) and {d} (4) (a), (c) and (d)
R &3 § ATRST B e ¥ § sw e gre £ 7
(a) sFrafdm & waza

(b) TEIfHTEA 1 gferme aw & @ aReR
(C) BITT & TET HHAT
{d)ﬁmaﬁrmﬁra%wﬁﬂ;nhrﬂa%#mmmﬁ_rm

=1 @iz 3§ 9 9 evv @1 T P
) (a), (0) 3R (d) - ) @), (b) 3R ()
(3_; {b}, (c) 3R (d) @) (a), (c) 3R (d)

(31) P.T.0.
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SECTION - li
= - |l
LANGUAGE : ENGLISH
{For Candidates Opting English Languags)

Note: Four alternatives are given as possible answers to each question. Give the
correct choice as an answer.

Questions 121-124 : Select the word nearest in meaning to the given word :

121. Colossal :

{1} evil (2) colourful (3) gigantic (4) athletic

122. Verisimilitude:

(1) artifice (2) similarity {3) difference (4) realism
123. Fragile:
(1} sturdy (2) tough (3) hardy - {4) frail

124. Immoral:

(1) clear (2) licentous {(3) punctual (4) good conduct
Questions 125-128 : Choose the word apposite in meaning to the given word :

125. Universal:

(1) global (2) general (3) particular (4} main
126. Eccenmtric:

(1) normal (2) peculiar (3) abnormal (4) simple
127. Eternal:

(1) permanent (2) perpetual (3) transitory {4) universal
(32)
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128. Vuigar:

(1) ribald (2) indecent | (3) timid (4) refineg
Questions 129-132 : Select the word which can be substituted for the given group of words :
129. One who sacrifices his life fér a cause : | _ |

(1) soldier (2} martyr | (3) revolutionary (4} patriot
130. A disease which is spread by contact :

(1) contagious () infectious  (3) spreading  (4) epidemic

131.  The life story of a man written by himself ;
(1) Autobiography (2). Biography
(3) Life story (4) Philosophy

132. One who eats everything :

(1) carnivorous  (2) herbivarous  {3) Omnivorous (4) Omnipotent

Questions 133-136 : Chaose the misspelled word from each group given below :

133. (1) Temprature  (2) Temperature (3) Allottee (4) Vehicle
134. (1} Exemplary (2) Embarass (3) Envious (4) Excelent
135. {1) Casual (2) Candid (3) Conversent (4) Catastrophe

138. (1) atmosfere (2) atmosphere  (3) conference (4) continuous

Questions 137-140 ; Fill in the blanks with the correct word :

137. Many areas of the city were ............. into darkness for several hours,

(1) spread {2) pl_unged (3) aligned ~ (4) merged
(33) P.T.0.
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138. Anewshop............ started in that building since last week.

(1) is (2) would be (3) had been {4) has been
139. Anappleaday keepsthe............. away.

(1) persen (2) sickness (3) doctor {4) hospital
140. The flow ofblood wasso ............. that the patient died.

{1) adeguate (2) profuse (3} intense (%) extensive

Questions 141-143 ; Fill in the blanks with the correct preposition :

141, Heacceded ............. my request.

(1) for (2) in (3) about @) o
142. The tears flowed ............. her eyes,

(1) through (2) across (3) into (4) from
143. 1t is half past six ............. my wateh.

(1) in (2) inlo

(3) by (4) inside

Questions 144-146 : Select the Part of Speech of the word (underlined) in the givern sentences :

144. Ashish is pretty mistaken about his friends.

(1) Noun (2) Adverb (3) Determiner (4} Adjective
145. 1saw him walking on the pavement.
(1} Gerund (2) Verb (3} Participle (4) Adverb
146. He had words of encouragement for each one of us.
(1) Pronoun (2) Adverb (3) Adjective (4) Determiner
(34)
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Questions 147-150 : Fill in the blanksswith the correct option :

147. Pleasetelime............. :
(1) Why didn't you attend my classes ?
(2) That why didn't you attend my classes ?
(3) Why did not you attend my classes ?
{4) Why vou didn't attend my classes ?

148, He............. for me for four hours.

(1} is being waiting (2) is waiting

(3) has been waiting . (4) had been waiting
149. My friend, philosopher and guide ............. abroad.

(1) have gone (2) has gone (3) are gone (4) gone
180. You came late today ............. :

(1) doyou? {2) don't you? (3) did you? (4) didn't you?

SECTION - 1I
goE - |l
ooy fa=lt
(= ot a2 et @ for)

fder : Prfafs ol (1), (2), (3) O (@) B9iF @ TRAR dwhevs TR R E
B & &€ 1F & wé ¥ 9% 98 =R & 19

181, frfofign & 9 S9-E a1 By Toere wEF R 7
(1) f&= () wepd (3) WIS (4) Fwem

182, T v w 4w wpw g T 7

(1) =g (2) e (3) w9 ' (4) wmafa
{35) - ' P.T.O.
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153, ‘orwolr wmr R fofd & frch @eh 8 7

(1) #m=h (2) dEArE (3) WrEr AR (4) &
154, <2 & g ww-aRaR X 8 ?

(1) W (2) FE (3) TR (4) IRT
155. @S A w1 e, Shor # e wa A gen 7

(1) zfeeh {2) TFHA _

(3) 5§ 4y z@T @S Al
158. wd deh Prefafes i O foa ot & weg 8 7

(1) AFDE =Tl | (2) wf¥=rt foe

(3) gt fe=d (4) Hrogd
157. ot wafyet fd w waet § v ofon &, 7 @it o, @ #@ BEd § 7

(1) Bsqor {2) wftRes {3) arEnTaIE (4) @i
158, fPreafefee 4 samg @f P 2 7

(1) 9 (2) 7 (@) & (4) 7

159, R & swER qoa. 71 8 7

(1) ¥R (2) TS (3) A - (4) =EE
160, Pr=fofyg ® § smaw &fwq SF-91 8 7
Qe (2) (3) (4)
181. 9r B& O B @, frae JERY EEay F (e wed § B ¥ - 31 @
FEE?
(1) o= (2) 99 (3) R (4) ¥R
182. we wWwU TaMT HY

(1 e (2) B (3) faEs {4) s
| (36)
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163. 9z W= =afag &
(1) W= (2) 9= (3) = (1) Iy
164. vg v o1 T Fifkw
(1) g7t (2) Teh (3) T (4) FEy
165, ‘grwert @ W Sf-Rese g 3 2
(1) 9<% + i (2) g7 + =t (3) g9 + vt (4) I + ot
166. T &1 98 FRO-f®e SRar & 7
(1) S= + =fa (2) § - F + +fa
(3) 87 + =fd (4) ¥d + A

167. e 4 O B9-w vreg Fiwr &1 yutmadt o g & 7
(1) Frae (2) T o 13y A (4) g

168. 1 % & ¥Y9-a1 v Tor 57 quiar T8 ¢
(1y wrgror (2) JEa (3) 974 (4) HTHE

189, wy= == arw & v uE wE e awhe @i
(1) eTTeer (2) =27 (3} = 4) Fvaw

170, 'ﬁmaﬁ?ﬁﬁaﬂﬁwﬁm‘é‘ﬁﬁvwﬁﬁmmﬁﬂﬁﬁﬂw
(1) e (2) @ty (3) dieeyd (4) TEEEY

171, e<hsogani & w9 s o) of w7 2 7
(1) 39 (2) BT (3) 3 =T (4) TH HH

172, gromper & S=-91 aod wgaa § 7
(1) w (2) o (3) v (4) UTESH

(37) P.T.C.
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173.

174.

175.

176.

177.

1ml

179'

180.

= FOTT e F el ¥ T g ?

(1) Pt @ (2) e T

(3) w9 fF#ER (4) RAwEeEm

ore w1 ST — TR W wE wef gatia P

(1) Rreer Fe 77 8 (2) fagroda afd
(3) T B {4) FR-TER AT

s Hend afedr R g F wged 6l € 7

(1) ghead (2) fema (3) sgaE (4) wEqEs
), PR BT AR AT § — T8 BUF HHD1 § 7

(1) wEdR ware A (2) gomd wee faad)

(3) o Rie (4) TR Yl

Prerfaiad & § @4 o B 0= F o B o an ?

(1) A1 & WA (2) amareE fBw

(3) WRE "R (4) STEA-ATATE

qodl @ Ff R ufyer e s 3w 3 ?

{1) WSTET {2) Ia

(3) 3o FEd (4} Narere Al

o o1 W Adm e @ d v
(1) 3T (2) Rem (3) FEaET @) =

AR ¥ S A g & 7
(1) PRy (2) wede (3) aGeH (44 st

(38)
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